
Year 5 Homework A – 10th November 2023

Multiplication

Reasoning Factors

6 x 7 = .

4 x 2 = .

12 x 9 = .

2 x 5 = .

7 x 11 = .

8 x 8 = .

6 x 3 = .

7 x 7 = .

108 ÷ 12 = .

28 ÷ 4 = .

72 ÷ 9 = .

14 ÷ 7 = .

Shape

Remember to also have a go at TTRS, Spelling Shed and Lexia (if you 
have it)! All links are on the class page.

Forgotten your login? Let me know!Addition and Subtraction

A toy shop has some toys to sell.
They have 56,392 toys.
They sell 27,006.

How many toys do they have left?

Match up the factor pairs for 18.
Remember: When multiplied together, factor pairs 
will equal the product.

Tick the shapes that are triangles.

Complete the missing digits. 
Remember: Do you need to add any exchanges?

(Total) 

(Part 1) (Part 2)     ?
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